6. Joey gave away half of his baseball card collection and sold one third of what remained. What fraction
of his original collection does he still have?
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32. What fraction lies exactly halfway between 2 and % ?
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35. Jerome, Kevin, and Seth shared a submarine sandwich.
Jerome ate -;— of the sandwich, Kevin ate -%— of the
sandwich, and Seth ate the rest. What 1s the ratio of

Jerome’s share to Kevin’s share to Seth’s share?

SRS '
O\ W W N N
DT XY
N = R L O



42. What rational number is halfway between -;— and % ?
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arranged by increasing size?

39. In what order shoul and —g— be listed to be
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18. In which of the following are —2—, and % arranged in

1
2 ?
ascending order?
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37. Mike has 12 bags of shredded cheese to use to make pizzas. If he uses % of a bag of cheese for each
pizza, how many pizzas can he make?
a. 12
b. 24
c. 36
d. 9
e. 16




